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QUESTION 1

In three years how much storage capacity will the New York office require, per quarter, for archived data? 

A. 275 TB 

B. 350 TB 

C. 425 TB 

D. 500 TB 

Correct Answer: D 

 

 

QUESTION 2

A System administrator needs to ensure that backup replication is implemented according to the best practices. When
the administrator uses a Sizing Tool, which criteria must be identified to meet the replication requirements? (Select two) 

A. number of replicating sites 

B. number of servers in the environment 

C. frequency of each backup 

D. amount of data in each backup 

E. number of D2D systems that are replicating 

Correct Answer: DE 

 

 

QUESTION 3

How do copy-on-first-write snapshots affect space consumption? 

A. The base volume is physically copied 

B. Snapshots are fully provisioned 

C. Snapshots without changes do not consume space 

D. Data is written twice after the snapshot 

Correct Answer: C 
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QUESTION 4

A large enterprise that backs up critical files to disk needs to reduce the time needed for backup and restore as well as
space consumption on the backup media. How can the enterprise achieve maximum savings of disk space and time to
backup and restore? 

A. Performs full and incremental backups regularly and store them all on the same media. 

B. Performs virtual full backup of files that are significantly larger than the block size used. 

C. Performs frequent synthetic backups and copy the sources. 

D. Performs frequent synthetic backups and object copies. 

Correct Answer: B 

 

 

QUESTION 5

A customer is designing a backup solution in the following environment: 

-VMware ESXi cluster 

-HP P6000 storage system 

-

Shared tape library 

The customer would like to perform backups to the shared tape library of the virtual machines running on the ESXi
cluster. 

Which additional component does the customer need to implement? 

A. 

HP Virtual Copy 

B. 

VMware Data Recovery 

C. 

HP Data Protector 

D. 

vStorage API 

Correct Answer: C 
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